Mathematics

Section Id : 40503668

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 25

Number of Questionsto be attempted: 25

Section Marks: 100
Sub-Section Number: 1
Sub-Section Id: 405036108
Question Shuffling Allowed : Yes

Question Number : 51 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Let f: (1, 3) = R be a function defined by
| 1]

14+x

greatest integer = x. Then the range of f

flx) =

15 :

Options:

. (5:3)

Question Number : 51 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

AT f: (1, 3) >R U& oA 2, W

flx) =

Options:

B4

N

x[x]
T+x

Uit < x TSI & | A [ IEE

5 where [x] denotes the

SRT ORI € W [x] HewH
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Question Number : 51 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Wi 3 f:(1,3)5R, f(x) = Lﬁ'lz 2l
1+x

eIt [Had 8, sedl [x] 2L el |2l yells

< x &, dl B8y fAl Baar Al s =)

Options:

[3 4
1. 5°5)

Question Number : 52 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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1 +33
iy

Let e = If

' 100 _ B (1 I

a=(1+a) ZJ a® and b= Z o>k , then
k=0 k=0

a and b are the roots of the quadratic
equation :

Options:
1. *¥*>+101x+100=0

2 2+ 102x +101=0

3 2 —-101x +100=0

4, 2 =102x +101=0

Question Number : 52 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1

Wn=1|—hﬁ%l?¥ﬁ{

2
100 100
'::I.:(].i['r::}lt'EZk GEL b=>_:u“3k,?ﬁ
k=0 k=0
a @1 b 91 9 ¥ fm 59 991w & 94
€7
Options:

1. 2?+101x+100=0

2 2 +102x +101 =0

3 2 —101x+100=0
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4 2 -102x+101=0

Question Number : 52 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

— 1+1i =
U5 o = —J_ S|
2
100 .10
a=(1+ a) Lﬁzk Wi b= EHSL €l
k=0 k=0
dla =i b A=Azl s4 gaud qlszeil ol
Y47
Options:

1. 2+101x+100=0

2 2+ 102x +101=0

3 2 -101x+100=0

A 2 —102x +101 =0

Question Number : 53 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Let S be the set of all real roots of the
equation, 3¥(3*—1) +2=[3%-1| +|3¥-2|.
ThenS:

Options:

1' 15 an emply set.

2 is a singleton.
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3 contains exactly two elements.

4 contains at least four elements.

Question Number : 53 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

AT FHRT0135(3% — 1) + 2= (3% — 1| + (3% — 2|
F Tl arfas gell FEg=EA S 1 S ¢
Options:

1. O e g 2

2 T E 999 el =g |

-

3. HHET EEE T

]

HFA Y FH I8 999 2 |
4

Question Number : 53 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

HRLS S 2 wlszel
3435 —1)+2=[3=1| +[3* = 2| dl du™
dqrelds oflsd AL 2wl S, A S

Options:

1. vl sw s,

2 2515l 2101 8.
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3 CRLR ol w2sl 4 9.

A. DUEILHL 2USL AR w25l YR 8.

Question Number : 54 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

2. 2 1 0
If F'a=[_ W and I=[ 1, then
g 4 01

J \ J
10A lis equal to:

Options:

1 6l— A

9 4A-A
3 A-4

4. A-el

Question Number : 54 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

5 B ¥ s s
a1fa A=(g J GEI I=[D J 7, @l
i\, .,.-' FJ
10A -1 sET 2
Options:
1. 6I-A
5 4-A
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3. A-4

4. A-6l

Question Number : 54 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

a 2 2 5 L Y e
ﬁrt:fh:[_ W **HI=[ W@iﬁni

2 4 0 1)
10A~1=
Options:
1 ol— A
9 41-A
3 A-4
4. A6l

Question Number : 55 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The system of linear equations
A +2y+2z=5

2hx +3y+5z=

4x +Ay+62=10 has:

Options:
1 a unique solution when A= —8

2 no solution when A=28

gcollegeduniaé



3 infinitely many solutions when A=2

4], no solution when A=2

Question Number : 55 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

I T fEm

A +2y+2z=

2hx+3y +5z=8

dx +Ay+62=10
Options:

1. o HE UH A E WA A= -8

2! 1 FTE 2 921 © o A=8

£

3. % I T E WA =2

4. N HE T A & 9" A=2

Question Number : 55 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

yaul wlsvel Held
Ax+2y+2z=>5
2Ax+3y+5z=8
dx+Ay+6z=10 4

Options:

1. A=—8HL it Gy 8.
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7 A=8 Wi 518 G5 -2l
T A=2UE Hd Ghdl B.

4. =2 e 518 Gid .

Question Number : 56 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

If « and B be the coefficients of ¥* and x%
respectively in the expansion of

' 6 ——\6
(x Fx’ lw I (x uxz lw , then:
: /

; !
Options:
1. at B=060

73 a—p= —-132
3. atp= —30

4, «B=60

Question Number : 56 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

. a p (]
Ilﬁ{[xlv'lxz IJI[I x° l];&F
TER H x4 T4 22 F OF HEI: o G941 T,
GUE
Options:

"I_ a+ =60
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2_ a—p=-132

3. atp=-30

Question Number : 56 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

4 e (5] ".I{T ;
| (1 b Vx2 ﬂ I (1 Va2 1] -l
/

A
[aczerl x? 21 x? Al 125l 21454 o 2
B &M, dl
Options:
1 K + B =60

7 a-p=-132

3. atp= —30

Question Number : 57 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

1
If the 10th term of an A.P. is 0 and its

1
20t term is ﬁ , then the sum of its first
200 terms is :
Options:
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3 100

1001
2

4.

Question Number : 57 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 4 Wrong Marks: 1

. . .1
%ﬁwﬁmmmﬁﬁ & g1

mznmqﬁﬁ%ﬂmumznnwm
I 7
Options:
1. 50

3 100

1001
2

4.

Question Number : 57 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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— WR—— - [g—
s HHIR %@ﬁ(A.P.jjIDgusﬁémmd

o T L | Rl
dd 20 % WE 75 € cll et Mo 200 WEL A
MY S2el M)

Options:

1. 50

Question Number : 58 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

S
- L} L sin(101)dt

xr—0

is equal to :
x

Options:

1.

1| =
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Question Number : 58 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

:L- +
i J'ﬂ Lsin(101)dt 3.

x—0

X
Options:
1

Question Number : 58 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

lim
x—l

jIL sin(10t)dt
0 15 T

X
Options:

4
1. 5
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Question Number : 59 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Let S be the set of all functions f: [0, 1] = R,
which are continuous on [0, 1] and
differentiable on (0, 1). Then for every fin
S, there exists a c € (0, 1), depending on f,
such that :

Options:

1. F@—-fO)I<[f'@)
9 f@-fM)]<(1-9[f©)
3 @+ <1+9 /@)

it f(ﬂ)

i Ty e

Question Number : 59 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

A G e f: [0, 1] s R, SR [0, 1] ™
Had & 991 (0, 1) T Ao &, H =4S
Tl WS HyAE fF fow f R ws
c e (0, 1) =1 #Afae 39 ¥=e & o

Options:

1. fO-fmI<If©)

2 e-fMD)][<(1-9 |f'(c)
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3. fE+HM]<1+9f'©)

) -f© _ g,
i Ty R

C

Question Number : 59 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

il 5 S 24 el o [EEL [0, 1] =R -l
AR 5o [0,1] WR Held 2 (0, 1) u= [Esadlx
9. dl S AL uels f e £ G 2uaEld i
s ce(0,1) 4 el © % o2l

Options:

1. F@—-fO)[<[f'@)
9 fO-fM)<1-9 |fE)

3 fe+fD]<A+q|f'©)]

()~ f© _ .
R i

Question Number : 60 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The length of the perpendicular from the
origin, on the normal to the curve,
12+2xy —f:'-y?-:EI at the point (2, 2) is :

Options:

1. V2

gcollegedunias



Question Number : 60 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

5k 12+ 2xy—3y2=0 & fog (2, 2) W EH=
T Afqera W e fag 9 26 ™ o= F
?FEITSr%':

Options:

1. V2

Question Number : 60 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

A5 22+ 2xy—3y2=0 - [Qg (2, 2) 2w
wftder Gur Goploguiell eRa det -l deud
Sedl a?

Optiqns:

1. V2
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3. 22

4 42

-

Question Number : 61 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

JZ d
1 \j2:r:3 9x2 + 12x + 4

1= , then :

Options:

l-:‘.[z-r:l

1'9 8

i-::[z-::l

7 16 9

Question Number : 61 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

2
Az 1= | -~ A F
1 V233 — 92 +12¢ +4
Options:
1{13 -::i
1 9 8
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ia:lz-::l

2 16 9

1{[2-{&

4. 6 2

Question Number : 61 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

2 -
o 1= | i Sl dl
1 V2 — 92 4 12x +4
Options:
ltzlzqi
1 9 8
ie.:[zc:l
2 16 9
l-c:lz-{l
3‘ 2
_{Iz{i
4. 6 2

Question Number : 62 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The area (in sq. units) of the region
f(x, e R2:x2 =y = 3-2x},is :
gcqllegeduniaé

Options:



Question Number : 62 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

4 {(x, y) e R2: 22 = yy = 3—2x} T &4AFA

(=i sredl H) 2
Options:
32

1. 3

Question Number : 62 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1

Ugdl {(xy)eR*: 22 =y=<3-22} « sHa50

(=il i) 2 =) ¥ collegedunia



Options:
32

1. 3

Question Number : 63 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The differential equation of the family of
curves, Yo= 4db(y+b),be R, is:

Options:

9 Xy =x—2yy’

-

3. x(y) =x+2yy’

4. *y) =2y —x

Question Number : 63 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

TR x2=4b(y +b), b e R & Fe1 T FAAHA
T E
Options: gco_llegeduniag



o xy)P=x-2yy’
3. WP=x+2yy’

4. y)=2yy —x

Question Number : 63 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

o5 Hsld x2=4b(y + b), be R  [Esa a{lszel
AlziAinizl 2] 2?
Options:

1. W' =y
9 x(y)i=x-2yy’
3. dy)P=x+2yy’

4. *y)=2yy —x

Question Number : 64 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

If a line, y = mx + cis a tangent to the circle,
(x = 3)*+y*=1 and it is perpendicular to a
line LEr where Ll is the tangent to the circle,

1]&1&1’1

£ —1nsie ot [( ) B colegedunia



Options:
1. ©—7c+6=0

2 +7c+6=0
3. +6c+7=0

4 c2—6c+7=0

Question Number : 64 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

I TF W y=mx+c, Ta (x—32+12=1
# UF IV T ¥ a1 98 UF W L, WA

% " g s |
» L T =14 e
€ W&l L, T9 22412 Tﬁlﬁ[ﬂ 5
T oY T T @

Options:
1. S-Tc+6=0

2 c+7c+6=0
3 CH+bc+7=0

4 c2—6c+7=10

Question Number : 64 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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o e e & |
HRLS L, 2ledna? +y2=1 [ {_ _]
; V2 V2)

2PAL 2WLS B, st WLy =mx +c 2 A
(x=3)2+y?=1 -l 2als ¢l =4 T L, 4
det €14 ol :

Options:

1. & 7ct6=0

3 2+7c+6=0
3. CH6c+7=0

4 c2—6c+7=0

Question Number : 65 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

If a hyperbola passes through the point
P(10, 16) and it has vertices at ( £ 6, 0), then
the equation of the normal to itat Pis :

Options:
1 3x +4y =94

2 x+3y=>58
3 x+2y=42

4 2x+5y=100

Question Number : 65 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Ife us Afqrae™ fag P10, 16) 9 & A1
& 91 5HF W9 (+6,0) WE, @ P W sHH
FAfeTl = T T

Options:
"| 3x +4y=94

2_ x+3y=>58

3_ x+2y=42

4. 2x+5y=100

Question Number : 65 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

sd 2ildaad (645 P(10, 16) Hizl v 2udl €
2 del RIRUIGE2LL (£6,0) 2210 €14, dl dd
(g P @l wltdor] 2eilsw ARl
54 23]

Options:

1. 3x +4y=94

2* x+3y=>58

3 x+2y=42

4 2x+5y=100

Question Number : 66 Question Type: MCQ Option Shuffling: Yes
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Correct Marks: 4 WrongMarks: 1

The mirror image of the point (1, 2, 3) in a

7 4 1

pla_neis{ ey —W. Which of the

3 3 3)

following points lies on this plane ?

Options:

1. (—1.—1,—1)

9 (1,1,1)

7 (1 -1,1)

1. (—1,—-1.1)

Question Number : 66 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1

fa= (1,2, 3) 91 U 99ad | Yidf&a= (mirror

/ 4 1 -
image],[ 3" g’ 5]%Iﬁlﬁlq?ﬁ?ﬁq
a1 fag =9 T9de W foog &2
Options:

1. (—1=1,—-1)
2 (LL1)

3_ (=11}
4, (—1,—-1;1)

Question Number : 66 Question Type: MCQ Option Shuffling: Yes
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Correct Marks: 4 WrongMarks: 1

[ (1, 2, 3) 4 25 wudaul 20l uldliv

3 3

A MR o
( e —] 6. izl £ [Gg 2u
UHAEML €217

Options:
1 (-1, —-1.-1)
2 (1L1,1)

3 (1. —1.1)

4. (—1,—-1.1)

Question Number : 67 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1

Let a =1 2;'.|.th and

Y —

b = .;'. j ?cbemfcr vectors. If ¢ isa

=

— — —
vector such that b x ¢ = b ¥ a and

c-a=20, then ¢ *+ b isequalto:
Options:
1
1. 2
1
2 2
3 -1
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ba | w2

Question Number : 67 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1
—F it £ M
I

qET g1 Gfesl 4 =

YFR & & bxc=bxa @

= = A
C az{]%,?ﬁc-bw%:
Options:
1
1. 2

Question Number : 67 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1

Wy 5 — 7 zj A
b=i—j+kAublS s c =

—

uEn dMiwdl b x ¢ = b x a =

&

C‘a=ﬂﬁ1q.,r?li2‘b=
Options:

gcollegeduniag



[
bd | =

]
L]
ra | =

ha |

Question Number : 68 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The mean and variance of 20 observations
are found to be 10 and 4, respectively. On
rechecking, it was found that an
observation 9 was incorrect and the correct
observation was 11. Then the correct
variance is :

Options:

1. 3.98

7 3.99
3 401

vl 4.02

Question Number : 68 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

gcollegeduniaé



20 YeAON F HIEg A9 THLO A 10 99 4
T | Y 9" wH W 9 T U
Y& O Terd A1 T HWEl U 11 o911 a1 HWal
TR ®

Options:

1. 3.98

3. 4.01

il 4.02

Question Number : 68 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

20 2Alsrlnl Hers 21 (SRRl 253 10 24
4 ol A 5. Yt ustmellul Wy uel s s
2edis 9 Wig © 2 WE 2adls 11 8. dl
2] [eizel o 22l)
Options:
1. 3.98

2 3.9

3 4.01

i 4.02

gcollegeduniag



Question Number : 69 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Let A and B be two events such that the

probability that exactly one of them occurs

2
is E and the probability that A or B occurs

is é then the probability of both of them

occur together is :

Options:
1. 0.01

7 0.02
3. 010

4. 020

Question Number : 69 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

TMAAN B TeAR cH UFR e fF e 4 9

= = [ 2 =
OTF UF & 2 F1 TFa = TAMATBF
o = Wi L 2, 6 o s e e

2
FFEFQHEHT%:

Options:
1. o0.01

2 0.02

3. 0.10

gcollegeduniaé



4. 0.20

Question Number : 69 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

ARl 5 A 24 B il tzAil 8 5 sl duidl
5 )

R 25 B2l HHell HoeldHL = Y i

A 24l B eHdiHl HousHl % QM dl e

alzel2dl 1B AL oL sedl =)

Options:
1. 0.01

2 0.02
3. 0.10

4. 0.20

Question Number : 70 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Which of the following statements is a
tautology ?

Options:
1. PV (*D = pAg

9 ~p Vv ~9 = PAg

9 ~(PA~d > pvq

gcollegeduniag



4 ~(p v ~q) = pvq

Question Number : 70 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

1 § ¥ FH W FYA UF [ 8 2
Options:
1. PV (~9) — PAq

o ~pv~9 = prq
3 ~(P A9 > pvg

4. ~(Pv~9 - pvq

Question Number : 70 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

izl 53 (e Reyucy 69

Options:
1. PV (D = PAg

g ~pv~9 — prg
g ~(P A~ > Pvq

4 ~(p v ~q = pvq

gcollegeduniaé



Sub-Section Number:
Sub-Section | d:
Question Shuffling Allowed :

Question Number : 71 Question Type: SA
Correct Marks: 4 WrongMarks: 0

The number of 4 letter words (with or
without meaning) that can be formed from
the eleven Iletters of the word
‘EXAMINATION"is

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

2454 10 2454

Question Number : 71 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

= ‘EXAMINATION’ F TRE 393 9 =949
HFH 91l 4 A & V=al (AY T 991
AqfaEH) T =N T |

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

2454 to 2454

Question Number : 71 Question Type: SA
Correct Marks: 4 Wrong Marks: O

310 ‘EXAMINATION’ Al 24013 2amisl
4 Al Aol 52l 21060 (212 1oz 5 242 2éd)
oLl 21514

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

2454 10 2454

Question Number : 72 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

n(n+1)(2n+1)

7
The sum, 2_ 4

n=1

is equal to

Response Type: Numeric

2
405036109
Yes

gcollegeduniaé



Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 72 Question Type: SA
Correct Marks: 4 WrongMarks: 0

T in{nlll}(znllj S

n=1

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 72 Question Type: SA
Correct Marks: 4 Wrong Marks: O

7
il % n(n+1)(2n+1) L.

1 s

n=1

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 73 Question Type: SA
Correct Marks: 4 WrongMarks: 0

Let f(x) be a polynomial of degree 3 such
that f( —1) =10, f(1)= —6, f(x) hasa critical
point at x= —1 and f'(x) has a critical
point at x =1. Then f(x) has a local minima
at x=

Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes

Answers Type: Range
Possible Answers :

Question Number : 73 Question Type: SA
Correct Marks: 4 WrongMarks: 0

gcollegeduniaé



L EI 3 1 U FETE f(x) $H R E R
f(=1)=10, f(1)=—6, f(x) 1 TF FHifaF
fagx= 1299 f' (x) 1 UF FHifas fag
x=1%1 @ f(x) = TF ™A Fraf= 7

x= |

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

3to3

Question Number : 73 Question Type: SA
Correct Marks: 4 WrongMarks: 0

QiRL 5 f(x) 2 Baud guel © 5 oA we
f(—1)=10, f(1)=—6, f(x) L x=—1 2110
[etixs (G © @14 £/ (x) A x=1 209 [Helys
(B . dl f(x) 4 2adld ~Ady,
R 20 HAGL,

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

3to3

Question Number : 74 Question Type: SA
Correct Marks: 4 Wrong Marks: O

Let a line y=mx (m > 0) intersect the
parabola, y2=x ata point P, other than the
origin. Let the tangent to it at P meet the
x-axis at the point Q. If area (AOPQ)=4
sq. units, then m is equal to

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

0.5t00.5

Question Number : 74 Question Type: SA
Correct Marks: 4 WrongMarks: 0
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